Hindi

Group Number : 2

Group Id : 46419929

Group Maximum Duration : 45

Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200
Hindi

Section Id : 46419937

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 40

Section Marks : 200

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 46419998

Question Shuffling Allowed : No

Question Number : 51 Question Id : 4641991555 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1


Free Hand


T Wi g AT eIt o 39 dree)

39 TR U AL A1 Ieeia- T 8l T GrEll & ST STHET GEldd JIT o ofH ef S o R, ST, 9 AT
THT STFTEA HITAT T R AT Blod el 37 QI § HHE = 6l FRHTA-H T (Sumerian), 9139
U o @7 T 6 9T gt (Elamite), 99T SEIICET 6 9T T (Mitanmi), Sie-gTT sl S - 97T O
ST o T U ST1TS T & 3T T STelen WTeer 7 e ey W 3 W, TR qeaerer % e
AT ST ATl =6 (Basque), Za-rasT oTohienr s 995 (Bushman) v gizie (Hottentot ) s d=m =1,
ST 37T e foram <t S=ier arTe) o ofe gk SefteReoT el &t I 2

O T Al Iy 9T e

(1) wermHt
(2) wwm
(3) wifes
(4) =

Question Number : 52 Question Id : 4641991556 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T Wi T AT it o I g

T TR T U ST AT TeRGHAT B AT W 3 ST STET S ST S & S % R, ST, 5 R
TAT STaT= A ATl 0 T AT oA & T AT § HEEie Tt s SEiEag-9mr e (Sumerian), 9T
S0 o @7 T w6 4T g (Elamite), 9ET RIS 9T e (Mitanmi), sie-giT st ST - 9 oE
S2ell ST T - USEhe #ATTe JT e 6T T ST vTrstl o e a7 1 o 724, s Tdaqmer & 9y o
AT S =redl =6 (Basque), Zraoi-aiamt o7wbier s g9 (Bushman) v gleie (Hottentot ) s @1 =,
ST 2T AT forar ot ST T v 3T e ot T8 8 A 2l

ﬂ%ﬁmﬁt{ﬂt{%:

Fel ¢ O SO o ET T T e 2

w1l : T S R e = 2

IR e o AT H, = 16T T o 7 ¥ ga 39gw IO o =5 whi e
(1) FealemxIlaqiwEre

(2) =AlsIlzAT T

(3) A I WEre, oo g [T &

(4) &= L7 €, wifehd F2 LWl €

Question Number : 53 Question Id : 4641991557 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



T Wi g AT eIt o 39 dree)

39 TR U AL A1 Ieeia- T 8l T GrEll & ST STHET GEldd JIT o ofH ef S o R, ST, 9 AT
THT STFIA HITAT ST R AT Blod el 3 QI § HHE = 6l IEHaA-HT g (Sumerian), 9T
U o @7 T 6 9T gt (Elamite), IS SEICET 6 9o e (Mitanmi), Sie-gTT s S - 97 ge
ST T T U ST1TS T & 3T T STelen WTeer 7 e ey W 3w, TR g % e
1A ST ATt =6 (Basque), Zra-ArasT oThienr s g9m (Bushman) v gizie (Hottentot ) s d=1 <1,
ShITET T e foram <t ST=iier ey o o7e ek SefieReoT el &t I 2

= &1 e fau TTY & U At (Assertion A) o w9 I foiiad € df gEU 3wk #T (Reason R) & &

i
AR A T G & ST S BT AT T I T a2l
T R : Gk YT o OH B ST o ShI0T ST s WISl T STai i TS| ol ST i el

TR Y & AT 5, A Fer e et 8 O we S = iR

(1) A= RaAI a8 a7k R, Al Wel =& &

(2) A #RKREHAT g8, Wi R, A+ vt o Aei &
(3) AwFe, T RamTe

(4) A¥TE, o R¥TE

Question Number : 54 Question Id : 4641991558 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T Wi g AT eIt o 39 dree)

39 TR U AL A1 Ieeia- g 8l T GrEll & ST STHET GEldd SIAT o o e S o R, ST, 9 AT
THT STFI=A HITAT T R AT Bled el 37 Qe § Hhie = hf IEHaA-H G (Sumerian), 9T
U o GET T 6 9T gt (Elamite), 9ET SEICET 6 9T e (Mitanmi), Sie-gTT sl S - 97T O
SET T HTE- T U AT T €] 6T TR ST FTTeA H Wi 2T T4 & W, s e o i o
AT S ATl 516 (Basque), ZTai-aramT a7t s g9 (Bushman) v gfzie (Hottentot ) s a1 ST,
ST T 2T form ot SIT=iier ey o oAe ek SefteRoT =18l & o B

:ﬂ%fﬁwﬁqw%:

FTl 1 T eTgER Tl & iR ¥ w2l

FerT Il ¢ SO, T ST ST forT o =i TS T ST a7 a9 el & T 8
IR e o AT H, = 16T T faehed] 0 8 ga 294w I o =2 hi e

(1) eIz s

(2) =wFlellzAiTeae

(3) e [ WEre, ofer e Il e &

(4) FH 17T €, Sichd e LTl €

Question Number : 55 Question Id : 4641991559 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



et i gt Frferfee wrt & s S

39 TR U AL A1 Ieeia T 8l T GrEll & ST STHET GEldd ST o o e S o R, ST, 9 AT
THT STF=A HITAT T R AT Bled el 37 Qe § Hhie = Sl EHaA-H G (Sumerian), 9135
U o T T 6 9T Gerdr (Elamite), 9ET ST 6 9o e (Mitanmi), Sie-gT s S - 97T O
Seel T M= =TT USeah 2ATTe T e SHT Wb SATel-eh \TarsAl H Wi a7 ©F o 72, st qaaamar & 9T 5
AT S A1efl a6k (Basque), Zrari-aiamt sTobienr s g9 (Bushman) us glzie (Hottentot ) WM a1 ST,

o T 21T TR FoT ot STy STy oh7 77 a7k STeRoT 81 & I 2

e T 11 & e i

T -1 = -1
(A) =T (I)  afeoraf s aThrant
(B) =T (I1) TR TEaeT
(C) wam (IIT) g =i
(D) fi=i (IV) it e fip
= fag T oreredl 5 9 weh S I

(1) (A)- (@), (B) - (Im), (©) - (D), (D
(2) (A)- (1), (B) - (L), (C) - (1), (D
(3) (A)- (1), (B) - (I, (C) - (IV), (
4) (A)- (D, (B)- (II), (C) - (1TI), (D) -

Question Number : 56 Question Id : 4641991560 Question Type : MCQ Option Shuffling : No

Correct Marks : S Wrong Marks : 1

T Wi T AT it o I g

T TR T U ST AT TeRGHAT B AT W 3 ST STET S ST S & S % R, ST, 5 R
TT &A= ATl 0 TR A= oA & T AT § HEie i S gEiEag-amr e (Sumerian), 9T
SO o @7 T 6 4T g (Elamite), TS HEiCiET S 9T T (Mitanni), Sie-gT st S - 9 o
SZell ST IT= - USeh #ATTe HF | 6T T AT vrrsdl 7 i a7 5 & 724, s Tdaqmer & 9T o
AT S =1edt =6 (Basque), Zraoi-aramt o7wbier s g9 (Bushman) v gieie (Hottentot ) s @1 =1,

)-
)-
D)-

ST 2T AT forar ot ST T v T e ot T8 8 A 2l

(1) =r=
(2)
(3) wamHE
(4) ==

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 57 Question Id : 4641991561 Question Type : MCQ Option Shuffling : No

2
46419999
No



Correct Marks : S Wrong Marks : 1

T W Uget Feferiiae Tet % I dem

Sfig= o wwerr & forg wiom Fata oravzes 2| wTer’, sant o srato =2hs Sie & ot & 5 @ Fa 2l |
aheaT AT i et 8| =8 uferdt sie & =or S it wer aon Edt 2| g o e off mem 7 e arft gu g,
i eIt 8 o GTe-ury Tt oft o | Stem | Jren 99T ST 2ET % 99 UK 2 USiEe T e T Bkl e |
AT, 2FATe Toie, T, Torg =5 O wrae, RISy, 51, ¥, SATH=aT, TEw-oHT 9a 71T aferm gr 2 Rt ) 9ga
& | AT o Sreaehiel W Al 'S’ ST 15 268 B el o7 | ST ST e T ¥ & 5 w1 w5 g 2l 8, Fae
F=0T 9 U F8); S Wi gu e & e W g o 81 gud | W 7 o et g fe, qier fon, o 5 3 €
ey =T 7 |

e = HeTaT o Told 37 2qTaegd & ?

(1) T
(2) dfem
(3) fomtar
4) ==

Question Number : 58 Question Id : 4641991562 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

TR T Tget Feteriaa Wit o =% di

SfTe = BT o [T T Haid sArawse & | Ao, STEn S SHoT 3l Si1ae o [hul &% H 9he 98l el |
AhEIT T ol &) & | 98 TieHT =i & =T I et e Wl ¢ | Tor | e o HeM 9 et ait gu E, o
TTCTSTIET B 2 Ty TFCeT off oF | Jie i are AT 270 IO o 56 W UAkEe I TS TaTeR HElT 6 |
I, 2TATE T, T, Torg 36 T erae, RaeTey, b, =7, SATar, @ 9 271 7Rerm 1 & fERaT ) 98
8 | A & SreaehieT O A 'STEE ST S 3156 B1 a9 | T 2 Fied Tie ¥ & iy o el R 2t 8, dhee
FE0T A W AE); S Wi gU e o e o 5 e A8l ged | wge = e siften G i, gier fon, o o s g
AT TN |

= o P g fohg 2 eldr ?
(1) wE

(2) =Em

(3) i

(4) FaAT=ETIE

Question Number : 59 Question Id : 4641991563 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



TR T Tget Feteriaa Wit o =% di

SfTe = BT o [T T Haid sArawse & | Ao, STEn S SHoT 3l Si1ae o [hul &% H 9he 98l el |
AhEIT T ol &) & | 98 TieHT =i & =T I et e Wl ¢ | Tor | e o HeM 9 et ait gu E, o
TTCTSTIET B 2 Ty TFCeT off oF | Jie i are AT 270 IO o 56 W UAkEe I TS TaTeR HElT 6 |
I, 2TATE T, T, Torg 36 T erae, RaeTey, b, =7, SATar, @ 9 271 7Rerm 1 & fERaT ) 98
8 | A & SreaehieT O A 'STEE ST S 3156 B1 a9 | T 2 Fied Tie ¥ & iy o el R 2t 8, dhee
=0T O W HE); S W] gu e o 5w o o o A8l ged | wge o e siften G i, giter fan, of 5 e €
AT TN |

Uerar o feheahl STl ST T g ?

(1) =i
(2) <
3) =
(4) TEET

Question Number : 60 Question Id : 4641991564 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T et Uga FAferiae wen % 3w S

SfTa= o W] o [T T AT SATaemE 8 | ST, Sar S SAFH0T Sih SiaT o (ohd! &7 H g% Aal el |
TEETT AT i ) 2| 98 aferdt =fE & =or I w6 wer aon et 2| oy F e off mem 7 e arft gu g,
gicerely 8F & Tre-ury Tt oft o | Ftem g Ire 9T o SuT % a9 UE 2 Uatte 7 TS TaTe Heky 9T |
1T, 2TaTed Toie, Tieft, Torg 3 o erae, Taerey, o1, a1, AT, Tw-adT dee o7 afer gR e Rt ) 9
& | SR % STesaisT H df 'STHWd’ SI9T i3 31es &1 el o7 | FeNT 2 e T ¥ & 5 sl e i 2l 8, hae
=0T 9 U F8); S Wid gu e & e o 5T e A8l ged | wge e st g T, gier fan, of 5 e €
Ry ST # |

'Ferg T g gen 2

(1) wrew
(2) weAwT
(3) mferT
(4) wHoET

Question Number : 61 Question Id : 4641991565 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



TR T Tget Feteriaa Wit o =% di

SfTe = HBETT o [T 9 Hai SATawe & | AT, SFE ST SHoT 3l S1ae o 1Rl & H 96 98l sl |
AhETT TR ol aT4] & | 98 TieHT =i & =T JA T EaT e Wl ¢ | Tog | e o 9eM 9 et ait gu E, o
TTCTSTET B o TT-TTer TfeeT off oF | Jig i S AT 270 IO o 56 W UAkEe I TS T HEkT T |
TR, STRTE Toia, T, Torg 5 O erae, TaeTey, o, 7, AT, a4 9 27 9RerT 51T g et ™ 15
8 | IR o STeRehieT O A1 \STEE ST S 9156 1 Aal IT | TEIT ST Hied T & T ol i T4 gl 8, dhae
F=0T 96 U 7E); <Y Wi 20 e % uE o 5 e 96l ged | S+ e st gy e, gierd e, ofF 5 3 g
TR TR |

TRITST T ST I e
(1)  rersr =a=

(2) EHTEIH Hecd
(3) Sfa= o aherar
(4) T I HEeo

Question Number : 62 Question Id : 4641991566 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

T T age Freferita e % 3w i

Sfiae o ghar @ g T AT ST TeaeTs & | ST, Sa S STaRoT Sk Siiad o fohdl & o 96 Aal gl |
AheTT AT #i et 2| 98 aferedt =i & =or = w6 wer aer et 2| g o e off mem 7 e arft gu g,
ST el 8 o TTe-ary Tt oft o | Srem | ITe 9T ST SuT o 99 UL 2 UaiEe T oS TaTe Heky 9 |
ATITeH, =TaTeH Toie, TiefT, Torg o o erae, RaeTet, o1, a1, AT, TE-adT due 27T afer gRT e Rt ) 9T
& | TR o STeaentsr 5 a1 'eTE SIET IS 31ea B Al o7 | JTHT I Fie uieT ¥ & T & e ffs g €, dee
F=0T HE U F8); S Wid gu e & e o 5T = A8l ged | wger - e siiten g T, gier faen, of 5 s €
SR T 7|

:ﬂ%ﬁwﬁqw%:

FHTL: SO ST SAHIUT SE l E gheTd] ST el € |

Fe Il: T TSaT AP WE o, ST El AT eTem & |

ST HE o ATl H, A AU T T H W W SR St o = iy :
(1) wFoIerHT T g g

(2) w1 A Fe Il e &

(3) A I WEre, oo g [T &

(4) = 17T &, Sfen e LWt 8

Sub-Section Number : 3
Sub-Section Id : 464199100
Question Shuffling Allowed : Yes

Question Number : 63 Question Id : 4641991567 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



g - g -1 & g e

w=T -1 T -11

o= T AT 9Tee
(A) () =rr
(B) =% (II) ==
(C) ol (II1) Sfea
(D) (IV) wHT
ﬂéﬁqmﬁwﬁﬁﬁaﬁﬂtaﬁq-
1) (A)- (@, (B)-(II), (C) (IV); (D) - (III)
(2) (A)-(IV), (B)- (1), (C) - (1), (D) - (III)
(3) (A)- (D), (B)- (1), (C) - AV), (D) - (LII)
(4) (A)-(1V), (B) - (II), (C) - (III), (D) - (I)

Question Number : 64 Question Id : 4641991568 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

ERTeIe IT8T “HT T TIToTRE e o o Ueh 27 e e-

(1) e
(2) fw

(3) s
(4)  ForEr

Question Number : 65 Question Id : 4641991569 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

g AT TOTREd TE FEMA 3 H S R AT 8 2

(1) == &7 g’rm
(2) <R

(3) et e 9T
(4) SETFET AT

Question Number : 66 Question Id : 4641991570 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

e ST i e =T B-

(1) =vEr
(2) Afrgs
(3) TEHHTA
(4) TEITEeT

Question Number : 67 Question Id : 4641991571 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



g - g -1 & g e

T -1 e -11
(A) TvREaE (I) =T =2y
(B) == Herr (I) =TT s77=
(C) mmu=ed (1) =ter eAhyemT
(D) alsre swHt (IV) g amast
1 e T e = W wE Ia g
(1) (A)- (1), (B)- (I, (C) - (), (D) - (IV)
(2)  (A)- D), (B)-(I), (C) - (IV), (D) - (IIT)
3)  (A)- (D), (B)- (III), (C) - (IV), (D) - (1)
(4) (A)- (@), (B)-(IV), (C)-(I), (D) - (II)

Question Number : 68 Question Id : 4641991572 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

"I o ST S i 2
(1) e

(2) SR

(3)

(4) Hw=w

Question Number : 69 Question Id : 4641991573 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

= TCA T TR ol 3k ST 99 o UK Hed 59 35 5 U |

D)

E) =&
A= few Ty Fodhedt o o wET 39 =4
(1) (B), (D), (E). (C), (A)
2)  (A) (), (E) (D), (B)
3) (B) (D), (E), (A), (O)
(4) (A (), (E). (B), (D)

(
(
(C) halETe
(
(

Question Number : 70 Question Id : 4641991574 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



T=TAREd 5 U 33 a1 o = ST
(1) ZEFEATATHI AL |

(2) STECH R e E |
(3)  HT eI g |
(4) =U EETRE TR B |

Question Number : 71 Question Id : 4641991575 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T=TARET 7 ¥ 9] 914 9158 -
(1) w=Efra

(2) wsateE

(3) wssarrd

(4) Yssaefid

Question Number : 72 Question Id : 4641991576 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

ARG ™ © 35 SIS ¥rea] T = i ;

(A) TTafEms

(B) e

(C) dremieren

(D) =rEfET

(B) ==

= feg o foehei o O gt I
(1) =< (B), (C)aﬁt(D)

(2) F=(A), (B) = (C)

(3) FT(A), (C) =k (E)

(4) F7(0), (D)vﬂf(E)

Question Number : 73 Question 1d : 4641991577 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

e fefiae = ¥ e1g e B-

(1) o7

(2) TR
(3) errsfate
(4) eTTiEsRR

Question Number : 74 Question Id : 4641991578 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



"ot o TR = T e @ihih T He o -
(1) oM & &= eI & ST

(2) T STRIET STHE I 2T=e] a6, i TN

(3) T ST ! T QT GHL T ST
(4) R R, IR S

Question Number : 75 Question Id : 4641991579 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

' ZEL AT e AT TIhiTh T Wa o7 e-
(1) w979 HE T qT IHRL

(2) =ET FATEd B

(3) weger Wi Higd e

(4) =TT S1Teh T AT T

Question Number : 76 Question Id : 4641991580 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

29T STeaT Th TE it

(A)

(B) wﬁr

(C) ==

(D) e

(E) &m

51 R Rt 28 T s
(1) W( ) (C) S (E)

(2) == (A), (B) & (C)

(3) = (B), ©) ) ) e (E)
(4) = (A), (C) =i (D)

Question Number : 77 Question Id : 4641991581 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

fFrferflg & as e 22

(1) e
(2) e
(3) =
4) =¢

Question Number : 78 Question Id : 4641991582 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



e
(1) =g
(2) =i
(3) eff
(4) @@

Question Number : 79 Question Id : 4641991583 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

o -1 g -1 g e

At -1 a1
(A) Frgs e ST as (I) Temam
(B) sz (L) weste
(C) Frer=mwi (1) ==
(D) =t F® =l (IV) =qwe
SRy e et e TR

(1) (A)- (D), (B)-(I), (C) - (IV), (D) - (11
(2)  (A)- ), (B) - (ID), (C) - (IV), (D) - (T)
(3)  (A)- (@), (B)- (IV), (C) - (II), (D) - (1)
4) (A)-(1V), (B)- (1), (C)- (1), (D) - (IT)

Question Number : 80 Question Id : 4641991584 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

G T g 11 & g e
Teft -1 el

I V=g H W=
(A) T8 % Terelt meg ot =redt fofer (
(B) 34 & gFaTE! (
C) =it gl o SFTETT 2AT=0T et =T (IIT)
(

(

(D) =T el ST @R TEaT &

= fewme e o & wE I A ;

(1) (A)-(IV), (B) - (I), (C) - (III), (D) - (II)
(2)  (A)-(IV), (B)- (1), (C) - (I), (D) - (IT)
(3) (A)- (), (B) - (IV), () - (1), (D) - (IT)
(4) (A)-(IV), (B) - (II), (C) - (II), (D) - (I)

Question Number : 81 Question Id : 4641991585 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



TeATCTREe = & iF W7 279 2ok 2reg o o7y SR e & ?

(1) e
(2) wer
(3) wr
(4) ol

Question Number : 82 Question Id : 4641991586 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

e BT HE TSR ol ST € -
(1) =5 AT &

(2) o=
(B) wweTE
(4) ERTSEENT

Question Number : 83 Question Id : 4641991587 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

A1 ot g 11 & gofer Fifm
=1 -1
HETET 3TeF
(A) =& F e (I) =To=F 99~ BFT
(B) wawE (IT)  TommT =5 ey gehe 2T
(C) oo (1) =E ¥ ferer eHr
(D) =t (IV) oo

qﬁ%ﬁqmﬁwﬁ il s

(1) (A)- ), (B) - (I), (C)- (1), (D) - (IV)
(2) (A)- (), (B) - (IID), (C) - (IV), (D) - (T)
3) (A)-(IV), (B) - (II), (C) - (1), (D) - (I)
(4) (A)- D), (B)-(IV), (C) - (1), (D) - (I)

Question Number : 84 Question Id : 4641991588 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

Tt o ¥ o gt anm I e -
(1) ==t e &)

(2)  =a ST ST |

(3) =TT

(4) T ST 2]

Question Number : 85 Question Id : 4641991589 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



a‘ﬁa‘rmﬁqw{%:

Fl: TSR TES ¥ GE T ;i T 2

FOTI: SRR Ul o1 giv T &, Wi=ad &t ghg e o)

U T o ST H, AT 150 T S| T H GEy 0L I 1 =2 i
(1) sl I uere

(2) FF1 s EH LA o e
(3) FI1wE e, o o [ Te &
(4) == 1o 8, ST s LWl 8

Question Number : 86 Question Id : 4641991590 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

fnér‘c?rwﬁqw%:

T 1l: IR o o SR W e S o oTe ¥ T e o Wi &, 39 ST Sedl 1

T Il:  TIete AIC SR [Tl o ST Ieq~ HIE] i STek Tl 9T deellel s 'S gHTE Feand ol
IHTH e o STAIE H, 1= 150 T [Shed] 1§ Gad S0 0 1 =2 il :

(1) =l wmIlsaTuers
(2) w1 FHe LA 7o &
(3) T 14Ele, oo o= 1L 7Terd &
(4) w1 7ed €, wifed F27 [Lwel 2

Question Number : 87 Question Id : 4641991591 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

HereT e o 3 o Toeie g o o O &7 e o Tofe! svier & Tohg o <t ST T ST 2 2

(1) =g
(2) T
(3) I

(4) AR

Question Number : 88 Question Id : 4641991592 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

'CIRCULAR LETTER' &t f&at & et & -

(1) w=T
(2) TEEER T
() Faw
(4) =R

Question Number : 89 Question Id : 4641991593 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



fer=rferftae o & fageT = ve 98 & -

(1) ToE=e EerT
(2) tETETEE fEst
(3) =fHaT=H faerT
(4) vETEEE Femm

Question Number : 90 Question 1d : 4641991594 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

B g AT o 2 ST H el B T T

(1) wg==zares

(2) FEmEeetes
(3) werrEEE
(4) eI SOT

Question Number : 91 Question Id : 4641991595 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

GOTE T &9 H FH oo 78] I EaTe ?
(1) ==

2)

(3)

(4) @@

Question Number : 92 Question Id : 4641991596 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

<STHTOT T T HHTE & -
(1) =uemT

(2) T

3) =

(4) eTeRivTE

Question Number : 93 Question Id : 4641991597 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

e = T wmme = sarEor 2-
(1) wmER

(2) e

(3) =

(4) sTHIIC

Question Number : 94 Question Id : 4641991598 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



g - g -1 & g e -

F= -1 = -11

= U
(A) T () ==t wm e
(B) Fong (1) e e
(C) @1 (IIT) 51 W
(D) waieT (IV) s7eziare aamy

= Rue @t o ¥ wE s g

(1) (A)- (D, (B)- (I1I), (C) - (TI), (D) - (IV)
(2)  (A)- (1), (B) - (1), (C) - (IV), (D) - (T)
(3) (A)- (i), (B) - (1), (C) - (IV), (D) - (I)
4) (A)-(1V), (B) - (TTD), (C)—(H)f(D)—(I)

Question Number : 95 Question Id : 4641991599 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

e & o s

(1) ==
(2) wwl
(3) S
(4) T

Question Number : 96 Question Id : 4641991600 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

ST T IF W T A

(1) T+
(2) s+
(3) =+
(4) ==+

Question Number : 97 Question Id : 4641991601 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



g - g -1 & g e -

w7t -1 =it -11
H-F@r-ﬁu—{r:tm?q' i
(A) ufg+u® (I)  =Pnfe g
(B) =T+ &7 (I1) =7 ey
(C) Tm+33r (IIT) & =y
(D) ¥+ a1k (IV) ToTdfer
=1 eu Ty e 5 ¥ e T g
(1) (A)-(IV), (B) (IIT), (C) - (1), (D) - (I)
(2) (A)- (), (B) - (II), (C) - (IV), (D) - ()
(3) (A)- (1), (B) - (1), (C ) (IV), (D) - (I)
(4) (A)- (1D, (B) (IV), (C) - (1), (D) - (LIT)

Question Number : 98 Question Id : 4641991602 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

e & O foray vepy o7 o e e

(1) ==rE
(2) e
(3) =
(4) =13

Question Number : 99 Question Id : 4641991603 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

T T R -
(1) == g
(2) @=ETTEH
(3) TTEEE
(4) ZFTIET

Question Number : 100 Question Id : 4641991604 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



i~

AT o YHaHdeqes & FHrT 98l 8-
A)
B
C)
)
E)
ﬂ%{ﬁqwﬁ?ﬁﬁrﬁﬁaﬁaﬁtqﬁ
(D)’ﬁ?( )

& (C) # (D)
Fae (A) <7 (B)
FI (B) 7T (E)

e e
[ o]
L S


Free Hand

Free Hand
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Language
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Question Id.

Language

4641991600
4641991601
4641991602
4641991603
4641991604
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